1900. $N \to W$ ZEALAND.

OLD-AGE PENSIONS:

REPORT FOR THE YEAR ENDED THE 31st MARCH, 1900.

Presented to both Houses of the General Assembly pursuant to Section 62 of "The Old-age Pensions Act, 1898."

The REGISTRAR of OLD-AGE PENSIONS to the Right Hon. the Colonial Treasurer.

Sir,— Old-age Pensions Office, Wellington, 15th June, 1900.

I have the honour to furnish the following statement of particulars required for presentation to Parliament, in terms of section 2 of "The Old-age Pensions Act, 1898," for the year ended

the 31st March, 1900.

In my first report I was able to state that the Act had been smoothly and effectively administered from its inception. To this, after a year's additional experience, I may add that the usefulness of the measure is now generally recognised, and that the anticipated difficulties raised by adverse critics are not apparent in its practical working. As a consequence of its success there is very little matter for comment.

Up to the 31st March, 1899, the number of pensions granted was 7,487, thirty-eight pensioners had died, and six pension-certificates had been cancelled, leaving 7,443 pensions in force at that date,

representing a yearly payment of £127,319.

During the year ended the 31st March, 1900, 4,699 pensions were granted, 786 pensioners died, sixty-five pension-certificates were cancelled (inclusive of thirty-seven renewal claims rejected), and six pensions lapsed through non-application for renewal.

The number of pensions, therefore, in force on the 31st March, 1900, was 11,285, representing

a yearly payment of £193,718.

Tables are attached showing—(1) The number of pensions in force on the 31st March, 1900, at each rate; (2) the number and annual value of such pensions in each old-age pension district; and (3) the number of pensions granted since the Act came into operation, the number of deaths of pensioners, the number of certificates cancelled, the number of pensions lapsed, and the number of pensions in force at the end of each year.

The total amount paid in respect of pensions during the year was £157,342 15s. 2d. This amount includes £248 1s. 10d., charged to a vote of £300 provided for the purpose of paying forfeited instalments in special cases and portions of instalments accrued up to date of death.

The cost of administration was £2,360 8s.

The total amount of absolutely forfeited instalments during the year was £1,036 5s.

During the year 425 pension-certificates were transferred from one old-age pension district to another.

On the 31st March, 1900, the number of pensions in force, exclusive of those granted to Maoris, was 10,281.

According to the last census returns, the number of persons in the colony (exclusive of Maoris

and Chinese) on the 31st March, 1896, aged sixty-five years and upwards, was 20,679. It is estimated that on the 31st March, 1900, the number of such persons was 24,800. On this estimate the ratio of the number of pensioners of European descent to the number above the pension-age was, on the last-mentioned date, over 40 per cent.

The number of applications for the second year's pension-certificate received and dealt with up to the 31st March, 1900, was 6,178. Of these, 6,141 were granted, and 37 were rejected.

The number of claims rejected under the respective subsections of section 8 of the Act were, one under subsection (5), twelve under subsection (6), and twenty-four under subsections (7)

While in some instances the pension has been misapplied, the number of beneficiaries reported as so offending is relatively small. Testimony to the good character of old-age pensioners generally is also borne by the fact that out of 6,178 claims for the second year's pension-certificate dealt with up to the 31st March, 1900, only thirteen were rejected on the ground that the conditions set forth in the subsections of section 8 of the Act relating to character had not been fulfilled.

The ratio of the number of old-age pensioners to total population varies according to locality. This variation is due partly to differences in the percentage of persons above the pension-age, and partly to the fact that in districts where mining is the chief industry a large majority of those who have reached the pension-age are unable to earn a living.

Additional regulations under the Act were gazetted on the 14th December, 1899.

EDMUND MASON,

The Right Hon. the Colonial Treasurer.

Registrar of Old-age Pensions.

TABLE I.—NUMBER of PENSIONS in FORCE, at each Rate, on the 31st March, 1900.

Yearly Pension.				Num	ber of Pensions.	Amount. £
$\tilde{18}$		•••			9,656	173,808
17					199	3,383
16			:		209	3,344
15		• • •			195	2,925
14		•••	• • •	• • •	138	1,932
13			• • •	•••	134	1,742
12			• • •		164	1,968
11					115	1,265
10	• • •				97	970
9	• • •		• • •		65	585
8			• • • •	• • •	81	648
7		•••		• • •	58	406
6	• • •				42	252
5	• • •		• • •		47	235
4	. • • •			• • •	38	152
3	• • •	• • •			19	57
2				• • •	18	36
1	•••	• • •	• • •	•••	10	10
		Totals	•••	· · · ·	$\frac{11,285}{11}$	£193,718

Table II. - Number of Pensions in Force in each Old-age Pension District on the 31st March, 1900.

District.			Number of Pensions.	Amount.	District.		0	Number f Pension	
Akaroa			32	$rac{\mathfrak{L}}{542}$	Nelson			277	£ 4,611
Amberley	• • •	•••	$\frac{32}{6}$	108	New Plymouth	• • •	•••	216	3,633
Ashburton	•••	• • • •	170	2,949	Oamaru		• • •	$\frac{210}{220}$	3,848
Auckland		•••	986	$\frac{2,349}{16,508}$	Onehunga	•••	•••	302	
Balclutha	• • •	•••	$\frac{900}{122}$	$\frac{10,308}{2,070}$	Otaki	•••	•••	49	$5,019 \\ 850$
Blenheim	• • •		141		Paeroa	•••	• • •	$\frac{49}{36}$	$\begin{array}{c} 615 \\ \end{array}$
	 Ja	• • • •	4	$\begin{bmatrix} 2,364 \\ 72 \end{bmatrix}$	Pahiatua	• • •	• • • •	30	506
Chatham Islan		•••			Palmerston No.	 u+b	• • •	135	
Christchurch	• • •	• • • •	1,076 - 95	18,334			•••	150 53	2,302
Clyde	• • •			1,688	Palmerston Sou		• • •	26	895
Coromandel	• • •	• • • •	112	1,998	Patea	•••	• • •		467
Culverden		• • • •	4	60	Port Awanui	• • •	• • •	47	846
Dannevirke	• • •	• • • •	109	1,830	Port Chalmers	• • •	• • •	177	2,983
Dargaville			63	1,114	Queenstown	• • •	• • •	91	1,628
Dunedin		• • • •	843	14,559	Raglan	• • •	• • •	119	1,995
Fairlie		• • •	6	108	Rawene	• • •		109	1,878
Feilding			68 .	1,160	$\operatorname{Reefton}$			123	2,188
Geraldine	• • •	• • •	115	1,984	Riverton			97	1,697
${f Gisborne}$		• • • •	100	1,779	Rotorua			64	1,149
Greymouth			407	7,250	Russell			89	1,499
Greytown			68	1,181	Stratford			30	527
Hamilton			170	2,905	Taupo			32	572
Havelock			8	134	Tauranga			78	1,375
Hawera			45	755	Te Aroĥa			26	455
Helensville			208	3,606	Thames			250	4,357
Hokitika			451	7,984	Timaru			131	2,231
Invercargill			469	8,100	Waimate			66	1,143
Kaiapoi			256	4,308	Waipawa			17	303
Kaikoura			26	431	Wairoa			109	1,670
Lawrence	•••	•••	183	3,118	Wanganui		•••	168	$\frac{1}{2},894$
Marton		•••	90	1,579	Warkworth	•••	•••	74	1,206
Masterton		•••	68	1,186	Wellington		٠	$44\overline{1}$	7,726
Maungaturoto	•••	•••	47	771	Westport		•••	$2\overline{15}$	3,795
Milton			106	1,792	Whakatane		• • • • • • • • • • • • • • • • • • • •	135	2,394
Mongonui		•••	52	921	Whangarei			161	2,746
Motueka	•••	•••	$\frac{52}{74}$	1,202	Whangarea	•••	•••	32	553
	• • •	•••	202	3,357	TT Hangaroa	•••		02	ยยอ
Napier	•••	•••	78	$\frac{3,357}{1,355}$	· m _α	tal	1	1,285	C102 710
Naseby	•••	•••	10	1,500	, 10	1001	1	1,400	£193,718

Table III.—Number of Pensions granted since the Act came into Operation; and Number of Deaths, Certificates cancelled, Pensions lapsed and in Force at End of each Year.

Year ended		Number of Pensions granted.	Number of Deaths of Pensioners.	Number of Pension Certifi- cates cancelled.	Number of Pensions lapsed.	Number of Pensions in Force at End of Year.		
31st March, 1899 ,, 1900		7,487 4,699	38 786	6 65	6	7,443 11,285		
Total		12,186	824	71	6			

Return showing Cost of Administration of "The Old-age Pensions Act, 1898," for the Financial Year ended 31st March, 1900.

Salaries-				£	s.	d.	£	s.	d.
Registrar		•••		100	0	0			
Deputy Registrars				150	0	0			
1 0							250	0	0
Other Charges—									
Clerical assistance		•••		1,124	3	3			
Contribution to Po	465	18	9						
Travelling expense	308	13	7						
Sundries				211	12	5			
							2,110	8	0
	Total	•••	•••				£2,360	8	0

R. J. Collins,

The Treasury, 15th June, 1900.

Accountant to the Treasury.

Approximate Cost of Paper .-- Preparation, not given; printing (1,875 copies), £278.6d.

By Authority: JOHN MACKAY, Government Printer, Wellington.-1900.

Price 3d.]

